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Example 1

Q. Find the intersection point (x, y, z) of:

3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
y
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Example 1

Q. Find the intersection point (x, y, z) of:

3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
.
Answer:
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Q. Find the intersection point (x, y, z) of:

3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
Answer:
3x+4y -2z = —6
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Example 1

Q. Find the intersection point (x, y, z) of:

3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
Answer:
3x+4y -2z = —6
x+5y—-3z = -15
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
Answer:
3x+4y — 2z -6
x+5y -3z —15
3x+4y -2z = -6
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
Answer:
3x+4y -2z = —6
x+5y—-3z = -15
3x+4y -2z = -6

—3x—15y+9z = 45
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
Answer:
3x+4y -2z = -6
x+5y—-3z = -15
3x+4y -2z = -6
—3x—15y+9z = 45

—1ly+7z = 39
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Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
Answer:
3x+4y -2z = -6
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
X+ by —3z —15
—2x + 2y + 4z 10
Answer:
x+by—-3z = -15
4.2.6 - Simultaneous Equations |l Higher Level ONLY

3/6




Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+by—-3z = -15
—2x+2y+4z = 10
Answer:
x+by—-3z = -15
—2x+2y+4z = 10
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+by—-3z = -15
—2x+2y+4z = 10
Answer:
x+by—-3z = -15
—2x+2y+4z = 10
2x+10y —6z = —-30
4.2.6 - Simultaneous Equations |l Higher Level ONLY



Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+by—-3z = -15
—2x+2y+4z = 10
Answer:
x+by—-3z = -15
—2x+2y+4z = 10
2x+10y —6z = —-30
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—2x+2y+4z = 10
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+by—-3z = -15
—2x+2y+4z = 10
Answer:
x+by—-3z = -15
—2x+2y+4z = 10
2x+10y —6z = —-30
—2x+2y+4z = 10
12y -2z = =20
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+by—-3z = -15
—2x+2y+4z = 10
Answer:
x+by—-3z = -15
—2x+2y+4z = 10
2x+10y —6z = —-30
—2x+2y+4z = 10
12y -2z = =20
by —z = -10
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+by—-3z = -15
—2x+2y+4z = 10
Answer:
—1ly+7z = 39
by —z = -10
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+by—-3z = -15
—2x+2y+4z = 10
Answer:

4.2 - Algebra - Solving Equations

—1ly+7z = 39
by —z = -10
—11ly+7z = 39
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+by—-3z = -15
—2x+2y+4z = 10
Answer:

—1ly+7z = 39

by —z = -10
—11ly+7z = 39
42y —7z = —10
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+by—-3z = -15
—2x+2y+4z = 10
Answer:

—1ly+7z = 39

by —z = -10

—11ly+7z = 39
42y — 7z = —70
3y = -31
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
x+by—-3z = -15
—2x+2y+4z = 10
Answer:

—1ly+7z = 39

by —z = -10
—11ly+7z = 39
42y — 7z = —70
3y = -31
Ly = —1
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Example 1

Q. Find the intersection point (x, y, z) of:

3x+4y -2z = —6
xX+by—-3z = -15
—2x+2y+4z = 10
Answer:
Sub y = —1 into E.
6y —z = -—10
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Example 1

Q. Find the intersection point (x, y, z) of:

3x+4y -2z = —6
xX+by—-3z = -15
—2x+2y+4z = 10

Answer:

Sub y = —1 into E.
6y —z = -—10
6(-1)—z = -10
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
xX+by—-3z = -15
—2x+2y+4z = 10
Answer:
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Sub y = —1 into E.

6y —z = -—10
6(-1)—z = -10
-6—-—z = -10
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
xX+by—-3z = -15
—2x+2y+4z = 10
Answer:

4.2 - Algebra - Solving Equations

Sub y = —1 into E.

6y —z = -—10
6(-1)—z = -10
—-6—-—z = -10
—z = —4
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Example 1
Q. Find the intersection point (x, y, z) of:
3x+4y -2z = —6
xX+by—-3z = -15
—2x+2y+4z = 10
Answer:

4.2 - Algebra - Solving Equations

Sub y = —1 into E.

6y —z = -—10
6(-1)—z = -10
—-6—-—z = -10
—z = —4

z = 4
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Example 1
Q. Find the intersection point (x,y, z) of:
3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
Answer:
Sub y = —1, z =4 into B.
x+by—-3z = -15
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Example 1
Q. Find the intersection point (x,y, z) of:
3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
Answer:

Sub y = —1, z =4 into B.

x+by—-3z = -15
x+5(-1)—3(4) = -15
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Example 1
Q. Find the intersection point (x,y, z) of:
3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
Answer:

Sub y = —1, z =4 into B.

x+5y -3z

x+5(-1)—3(4) =

4.2 - Algebra - Solving Equations

x—5—-12 =
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Example 1
Q. Find the intersection point (x,y, z) of:
3x+4y -2z = —6
x+5y—-3z = -15
—2x+2y+4z = 10
Answer:

Sub y = —1, z =4 into B.

x+5y -3z
x+5(-1)—3(4) =
x—5—-12 =
L ox =
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Intersection pt. = (2,
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